[111-5 moniCO1]

BAET G b F o XS B F(X)=-2X+4X B2 TR AR PR Yy+6=0723
B~C 8. BIAABC e g 2. 8 5 1@ ?

(A)16  (B)18  (©)20  (D)24

Ans * (A)



[111-5 moniC02]
HLETG - B P(—4,3) 0L R EE050PE yihf w2 &b bl orT o B
cscOz B i @ ? y

4 3 5 5
A)-2 B)-> )2 D)2 P(—4,3)
(A) 3 (B) 2 ( )4 ( )3

Ans : (C) 5o



[111-5_moniC03]

384

DA ok }L'ﬁi;flj<an > m”F]‘ W% a = o 2L

v

=

CALE T R <, > i T =

N

—_— -_ 8 —_— —_
% CETG RV, =(a,b) > 2 v=Dy Rl
i=1
(A)13  (B)I15 (O)17 (D)25
Ans : (B)

[ S
P -




[111-5_moniC04]

YeRlHTE 0 ¢ rad bt & 2600 FafrbhE RA WL 14020 F
(A5

(B)V7

(C)22

(D)3

Ans : (B)

12



[111-5 moniCO05]

% 538 5% f(X)=x>—100x* +98x° +99x* —x * & % 7 ;X g(x) % &_g(x—98)= f(x) > R
g(x) 73 2 Glicfe i @ 2

(A)97  (B)l (C)-1  (D)-99

Ans (D)



[111-5_moniCO06]
E AR 2+ X2 —BX+2=0MfF2 ¢ o F Hra B FsboRlatbz 5 ?

3 3
A7 B ©-1 D=7

Ans : (C)



[111-5 moniC07]

Sad R T b - FARLAEAL,2) BERL
BRI N

A3 B4
Ans : (B)

SN
2}

(C

Y
=

6

/P?

(D) 8



[111-5 moniCO08]

KhkEF8 ¢ wdiETa FFC:X+y —4x—2y+k=02 8 R L:x-2y-5=04p* > 2
P(a,b)’ Bla+b+kz &5 @™ ?

(A)2 (B)3 (©4 (D)5

Ans © (A)



[111-5 moniC09]
Ka>02faxl> FLETe A Sficy=Ilog,x& y=log, X DB~ B L&, @

BARLEE x g2 AT 8,0 P(x1,p1) > O(x2,02)7 B BRM 65y b 2T
BT, R(x3,p3) > S(xa,ya )™ Bh o I Skt o ¥ 838 2

(A) X%, =1 (B)ys+y,=0

(OT, #T, 482 %(1,0)- 8 (D)T, 5 4 38t T, 5 s

Ans (D)

et



[111-5_moniC10]

FokE R BT Gl K 2 AR Ve ()0 o A TR - K S Ry

ZkAwG 3B 8B ISHE > Bk fide o doBl-(b)rm 0 Fet R G 10k 0 Bl

53 5 RES Y

s PR, o0 650 B

(C) 495 J:I.f'\i B F_E F=IE
(a) (b)

(D) 515

s+ (C)



[111-5_moniC11]

AT LA BTHERRAYL 00D E TN 0 B A ARG ABERRSA K @
TP h ABLAK 4504 0 @ A AR 7506 0 P P 2 A TR REAE A BEA W) 5 410
AOES0 N FRAAHETL- FTHRGHR AP RFREARA G5 50200

(¢ 314 ~17.7 ~ /3140 ~56)

(A)560  (B)531  (C)354  (D)280

Ans * (A)



[111-5 moniC12]

sin80°cos 30° —sin10°cos60°
- =a > R T AER P EEFE
2sin 20°cos 20° TR

-~

—:‘:/Q

Wi ®lcsinge (©@astan50° (D)a<+3
a a

Ans : (C)



[111-5 moniC13]

S B - TG BB AC1,0,0)B(0,0,1) C(3,1,0)= 8% plg:P(10,-1,1)
G E pedts 5 2

WV3 BV (O3 D)2/

Ans (D)



[111-5 moniC14]

Kraif# P AB-CHinl> L 05niEE > THF HELEFEPT 4
S Y

(A) # AB=AC > BIB=C (B) #B=C > Bl AB=AC

(C) # AB=0 ' B A=0s£B=0 (D) # A0 B0 > | AB=O

Ans : (B)



[111-5 moniCl15]

FoBRHFEFT e v F T A e H 6 ELAF s FARRLWETT > B
P A fAFEL N R AR AR RN R R RARG SRR ERA?
A3 B6 (©Ol12 (D)24 B

Ans : (B)



[111-5 moniC16]

x—y<1
S AR A XN I x4 2y 4220 FIEET o P RSB (X, y)=3x—2y+kF B E 3>
X—2y+2>0

Plkz @5 ®?
@9 ®»1 ©O©-1 O3
Ans (D)



[111-5 moniC17]

CATR B A Rl BR Yy S EERF x A& BT % Sdky=asinbx+c &7 c H
Pa~b e iR Fy=T(X) DR 4B AT 0 Blatb+c B s R 7
T ¥
(M)100+75 oo 100 @500 @5 100)
(B)60-+107 gg;m /\ (‘
(C)40+10x ég i y=60
(D)60+% g%
Ans * (A) 10 (1520) (35,20
ns - T T T T T T 7 > X
O] 510152025303540




[111-5 moniC18]

BT RRET S RAEGED S HY - ;iggmﬂ:‘ﬁ = ff_fi—*‘ﬁfr— [ 2 A
= ?&‘F’K%‘Eé’iémﬁjﬁﬁﬁﬁ%%i#@%_‘ #0 Ti—ﬁzﬁl*p Phskis o ME3 AEPEHR S
9

x .

(A) 96 (B) 108 (C) 128 (D) 144
Ans (D)



[111-5 moniC19]

RKEETa +y A(2,-1)~B(-1,1)3 B s &L :x+2y+k=0 ~ L,:kx+y+2=0 > %
ABZLAPR - LA dp% > RIAkET &GP 2

(A) -1 (B)—% ©0 (D)3

Ans - (C)



[111-5_moniC20]

did

I

e

L

4 4
A)——<m<—
(A) 3 3

Ans (D)

Tte b o FERYy-1=m(x-2) & fd

R BTt o PR

4 4
B)—-—<m<—
(B)-3 3

(C)m<—gé~‘ m>ﬁ

e
9

16

(D)mS—ﬂé\; mzﬂ
3 3



[111-5_moniC21]

eprflek F L L TRPERE Y - B R R Dk Bl £ M f BT - B
2 2

EE o dTE b - ﬁ@%+%=wﬂ EBLF CF, 0 Bld B3k RTERS =

F ot w 3| F AT ARG R 2

(A)24 (B)28 (C)30  (D)36

Ans * (A)



[111-5_moniC22]
Ka biF# 2 f)=xX+x"+ax+b 2 ¥ 38> Mg BFERLF?

(A)az% (B)a<% (C)-1<a<3 (D)a<-1#a>3

Ans * (A)



[111-5 moniC23]

KR BIEIAN () =alt+bx®+ox+d 0 ¢ f(X) 202 5 x=48 x<0 » P T 74t @
HHE?

(A)b>0  (B)c<0  (O)f(x) x=2% & & (D) f(x) ek o 25 (%,f(g))

Ans : (C)



[111-5 moniC24]

=3 Pla+bz EZ ™ ?

. ... a+bx-=2
Xa-b¥iFE Flim———
X

(A) 12 (B) 16 (C) 20 (D) 25
Ans : (B)



[111-5 moniC25]

R A J'_ll(x2+2|x|)dxi iR ?
5 8 13

A)0 B)— C)—= D)—

(A) ( )3 ( )3 ( )3

Ans - (C)



